Run 4465 quartetwise, Asyms0 (Raw): All
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Run 4465 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4465 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4465 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 4465 quartetwise, Diffs0: All
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Run 4465 quartetwise, Diffs0: Beam ON, Laser ON
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Run 4465 quartetwise, Diffs0: Beam OFF
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Run 4465 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 4465 quartetwise, NegHelAccO/NSamples0: All Run 4465 quartetwise, NegHelAccO/NSamplesd: Beam OFF
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Run 44865 guartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON Run 4485 quartetwise, NegHelAccO/NSamples0: Beam ON, Lasar OFF
quanstwisa baami las? nagHD quanctwisa baami lasl nogHO
— Entries 0500 B Entries 54430
5000 — Mean 11.16 | Mean £.414
- Std Dew 04071 2500 [— Std Dew 0.3567
4000 [— -
| 2000 —
3000 — -
B 1500 —
2000 |— u
— 1000 —
1000 — 500 [
'D_l""l""_ I DT||||||III| i B A A B A B A B A A A A A IR B
B 9 10 11 12 13 B 6.5 7 7.5 B B.5 9 0.5 10

MNegHelAccl/NegHelNSamplesd MNegHelAccO/MNegHelNSamplesD



Run 4465 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO
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Run 4465 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 4465 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4465 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Run 4465 quartetwise, Sums0: All Run 4465 quartetwise, Sums0: Beam OFF
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